S0 3Ly 5 R 7% 15
T KET A 4s : BEER ) EREE AT CElLTE
TR e E B e w h e T e T
&| B R T BHEE b o> F i ik * L. 1ﬁ%t|:i’§%ttf§ = s " i
[ FELAAR D Hit ek L1l 2 28 3.1 —|  —
B AR T ATV 1 o> B R ek 1.1 fﬁ?tb@EHﬁ% [2abi (=i
RERLLS O ek 11 2. 9% 3.1 —ffi 1.6
Z| A s 1.1 [l 2. 2 3.1 = =
oy FR E=ez 11 [W 2. 210 3. Ol 1. 6ffi 1.6
&| PRI ey 1.1 | 2. 9t 6. Ofi 2. 2t 2. 2
A H g LR 2,208 3.1 | —
B e 1.1 [l 2. ot 3. Offli 2. 2t 2. 2
| %H et 1.1 [# 2.9 6.0f — A
L B st 1.1 |l 2. 9t 6. Offli 2. 5t 2.5
W1 ~3TH Eati 1.1 Bt HEE bbbt EhvE
HREL] gctd 1.1 [ 2.2 3.1 - -
W T Es L1l 2.0 6,00 —fli 2.5
7| i L L1 2. 20 3. Ol 1.6l 1. 6
7ol REZE e 1.1 [ 2. 2 3.1 — —
SRR gt 1.1 Wl 2. ofll 6. Ot 2. 5%t 2. 5
B TR I 11 2,200 3.1 —| —
& HAR gted 1.1 [ 2. 2 3.1 —l 1.6
| PEE Eeeid L1 20208 3.1 — —
Oy REE ki 11 [ 2. 2 3.1 - —
] Eceid L1 2,208 3.1]  —fE 1.6
S TR i 1.1 [t 2. 2 3.1 - -
ESRi L g2 11 M 2. 208 3.1 —fi 1.6
Z =R N 1.1 [l 2. 20 3. 0 1.6 1.6
= R Esicd L1 2.2 3.1 —| —
EREUAOERNAT  ERTTRTE A B F R i 1. 1 & HHe)E b v —| b
EFRLASL o Hirdsk 1.1k 2. 9’/%@ 3.1 —Fﬁm 1.6




